Test Installation

g 150'-4 [
== o < = o — — e o o ¢ Y - 4 — Y n T
l I I I I 1 1 1 I I l
Plan View
» A < [ 1 £ T\” v 1 r
b & | L] i Il Il 1 |9 11 @ | | 1 [ L1 |9} | D | LI LI 19 I I 11 19 Ll

>/
- Elevation View »
B - /"‘, [
Nut, 7/8 fh',,ki;w)f hex A )
galvanized R
Washer, 7/8 SAE Hardened — ‘ )}‘i D \'H_L(
T 3 d
] A > - »» Rail Splice
Juol Josl

Section A-A
Scale 1:20

Stainless Steel

Components

Y.

3 T 3
Plate Washer Y
with @@311/16" hole at centel

Detail B
Scale 1:20

Nut, 5/8 heavy hex

Nut, 5/8 hex jam

Plate Washer

= Jexas A&M Roadside Safety and
/‘ Transportation Physical Security Division -

3" x 3" x 3/ Al | stitute Proving Ground
with @1 1/16" hole at center Project #607841 WP Lane Bridge Rail 2017-09-13
Drawn by GES  Scale 1:200 Sheet 1 of 9 Test Installation

T:\1-ProjectFiles\607841 - WP Lane Jr. Bridge - Williams\Drafting, 607841\607841 Drawing



Deck Details - Elevation
(from Field Side)

- 1 4- B
C =
D
C -
TL: - 15'-1/ [
(@] T ‘L‘ 1::"“] :
| i Typ e
. 1/2 L .
cover o
1.—’ - 1-12" TYP
Y 0o
\ - —— — 5
. ' [N e
A 0 OO 6 IR I S L2
LL--Coocboe=432 cebIco-adz=c==tio=
tH————= FHH—F—44 St A=At ———— +H——
Y I | P I
) HI:_” "Hltfii“ )
v Pl :
Y W

Rebar @5/8"

@ 8" in Deck

unless otherwise indicated

Section C-C
Scale 1:10

Rebar, @5/8"

@ 12" in Wall

Anchor Bar

C
()

2d

(1]

Deck rebar clearance is 1-1/2"

Detail D
Scale 1:10

on each side of the joints

2a. Weld Anchor Bars to existing rebar (not shown
here) protruding from Apron at 18" spacing.

2b. All rebar is grade 60. Minimum lap length for #5
bars is 18-3/4".

2c. 3/4" Chamfer at back edges of the deck as shown.

2d. Concrete strength is 5000 psi.

/‘-‘ }'exas A&M
ransportation
A |stitute

Project 607841 WP Lane Bridge Rail
Drawn By GES Scale1:200 Sheet 2 of 9

Roadside Safety and
Physical Security Division -
Proving Ground

2017-09-13
Deck Details - Elevation

T:\1-ProjectFiles\607841 - WP Lane Jr. Bridge - Williams\Drafting, 607841\607841 Drawing



Deck Details - Plan

= i ¢ a
J O < = — —
L < < o a o 7o) C o) > o~
x < ()] 0 I~ I wn (4P N (<o) (=)
- - - - it -8 - e - - ~f el
{ a1l
Rebar clearance is 1-1/2
O o [ on each side of the joints
4-1/2" ' ° ° ° ° ° o |xo
A 4
. | o o o (<) o o ) o‘ g (<) o 1) <)
i1
. 4
Detail E

Joint - Typ

Scale 1:30
Typ all Sections

Conduit, 3/4" EMT x 10"

for Field Side Anchors

Conduit, 1-1/4" EMT x 10"
for Traffic Side Anchors

5" - Typ for J- and L-bars
Typ J‘ rRebar, @5/8" x 14'-9"

Adjust rebar spacing as
needed to avoid Sleeves.

Detail F
Scale 1:20

= Jexas A&M Roadside Safety and
<= Transportation Physical Security Division -
A |;stitute Proving Ground
Project #607841 WP Lane Bridge Rail 2017-09-13
Drawn by GES  Scale 1:200 Sheet 3 of 9 Deck Details - Plan

T:\1-ProjectFiles\607841 - WP Lane Jr. Bridge - Williams\Drafting, 60784 1\607841 Drawing



Deck Rebar ‘

Rebar clearance is 1-1/2"

on each side of the joints

-ﬂhﬁ‘;ﬂ f' Qg I g o @ g g o B el e o o i g B, e e T e 0 e o] -‘: 2 .u
ﬁ B e B e S I S 1 e | S A B S S [ B S e B B S iy A B S A
[T ST RN TP T A L T o G T T T T T T R T T T T ||' il ' ' [T TR ||' T XTIRRTIRT]
1 l|'_1|_+_ ) |JL?&__;}_JL§L_&_E} P ||' ||'°||l i _ul-oﬂ oo ||' |_ 1_ i rb_#ﬂy i i _IIJIJI' i ‘gll,: L i ||'_:__
i ‘%:ﬁ::::’i i iii i ::FJ:'T iNEL il %T’ﬁ—ﬁjﬁ T iiiiiaiE i i
| | | | | |
LﬂL::*ﬂﬂ I||' nr“i?FThL ||— ||r—ﬁr -Itr_‘th _fﬁ—_—-ﬁf _’Iﬁ- -ur_-ﬁr -u'L |I ||T"ﬂ|' -u%-— fj'"ﬁ'l:— i _fﬁ- ‘ﬁl‘:—fﬁ'— it _?ll'L - -ﬁ'dliir _ﬁ- i
EAME AR T EE AR PR R R T REE B R
ol it —pfis <= = e e
At e e o e e e e o e e e e o i —-E"——#"- et e e i - ——#‘———‘Iﬂ‘—'&?‘— e e
[ T L L R L | | A A [ T T R N L [ TN I N
oI i J_ i n_ N N S 1 R
AF=F=BFAF=F=F=@=T= == AE S SF =B RFSF BB A SF SE @ = V= AR SFFF B AR SF B IRF=F ==

Detail G
Scale 1: 30 4 5/8" - -

40" > Typ all Sections

>
|
S
»

1-1/2
i @ 3-3/4
L-bar 30"
o Total bar length =62 7/16"
35 o Scale 1:15
J-bar @
Total bar length =81 3/8"
Total bar length =30 7/16" U ¥ :
Scale 1:15 )
j v /‘_ Texas A&M Roadlsgle Safetl% and
‘ A agAn Transportation Physical Security Division -
i - D34 7 | lnstltlll,toe y Proving Grgund
Project #607841 WP Lane Bridge Rail 2017-09-13

4a. The numerals in hexagons indicate the quantity needed for each Bar.
Drawn by GES  Scale 1:200 Sheet 4 of 9 Deck Rebar

T:\1-ProjectFiles\607841 - WP Lane Jr. Bridge - Williams\Drafting, 607841\607841 Drawing



& ] & Parapet Section ] .
= = = ‘T ;_ - = ‘T E\' N
5 S 929 N} T 0w Y 5 = - - - -
< b ¥ - ® - = = o B b N T 0o~ N ==z
8 -— ~— b L aalE — — (&) G o] N~ wn <t O ™M (qV] © «@ O
s <= - -
s_3%a
<o P H
omo QO
T~ 0o I
(D 8 L: L = i s llrmwrir: = =l y — 2= ramn  saess sneenliliod - o a a2 a2
% o | » e 3 ' 3 ™1 1= 1 15 1
9 |
T T e = » ™ i
L ] 2 ot o= s . <z e
L ] " L ] ] L)
6" ‘L_>< 66" > \Symmetric about ¢ Plan View
Parapet Stirrup
——"—Zsp @ ~Rebar, ¢3/4" x 149"
1" —»—3sp @ 4"
12" Bolt, 7/8 x 15" hex
—5sp@ 10" ——— > . A325 galvanized
50" 4 Sgg@ g —e-H (4 @ each Post location)
2'to @ —» -
i I
\ y
Rebar, @3/4" x 14'-9"
L H
Elevation View Scupper, 3" x 24" Rebar, @ 3/4" x 75"

5a. Concrete strength is 5000 psi.

/‘-‘ _’1_'exas AEM
ransportation
A | stitiie

Project #607841 WP Lane Bridge Rail 2017-09-13

Drawn by GES

Scale 1:20

Roadside Safety and
Physical Security Division -
Proving Ground

Sheet 5 of 9 Parapet Section

T:\1-ProjectFiles\607841 - WP Lane Jr. Bridge - Williams\Drafting, 607841\607841 Drawing



32n

27-1/4"

23-3/4"
20-1/4"

20"
18-1/2"

o

|
|

7
1-1/2" —»

10-1/2"

® o

2-1/2" ?—D'—b’—b‘—»—b—b
yu

B+

12-1/2"
19-1/2"
20"

12-1/2" S
1-3/4" Clear—» /
T Typ / ......
7-1/12 T Y, 4
S | Bt PAAES
- eSS

12||

13"

r

R10"

[
r

-
g

\~ @ 3/4" Longitudinal Bars

21"

16"

13"
10-11/16"

6-5/8"

2-1/2"

Section H-H

Scale 1:7

PRI I N > 172"

et 12-5/¢ >
Scupper Stirrup

Total rebar length =54 15/16"

- -

st 14-3/4" =
Parapet Stirrup

Total rebar length =61 9/16"

6a. The numerals in hexagons indicate the quantity needed for
each Parapet segment. The length dimensions are given as a
reference only. The individual dimensions take precedence in the

event of a conflict.

/‘- _’1_'exas A;S_’.tMt
rans, ation
v Instltl’l,t(;

Project #607841 WP Lane Bridge Rail
Scale 1:8

Drawn by GES

Roadside Safety and
Physical Security Division -

Proving Ground
2017-09-13

Sheet 6 of 9 Section View

T:\1-ProjectFiles\607841 - WP Lane Jr. Bridge - Williams\Drafting, 607841\607841 Drawing



Nut, 5/8 he

Stainless Steel

Nut, 1" heavy hex

Stainless Steel

Nut, 5/8 heavy hex

Stainless Steel

Washer, USS 5/8 Flat
Stainless Steel

19"
Nut. 1" heavy hex N @

Stainless Steel Anchor Rod
Field Side
(threads not shown for clarity)

@ 5/8" Threaded Rod
ASTM F593 Alloy 316

Washer, 1" USS Flat Stainless Steel

Stainless Steel 5 21" long | Y

4 > - @ 5/8
@ 1" Threaded Rod
Stainless Steel Traffic Side
31 1/2" long . Y (threads not shown for clarity)
= Z Texas A&M Roadside Safety and
™ Transportation Physical Security Division -
A |stitute Proving Ground
7a. The numerals in hexagons indicate the quantity needed for each Project #607841 WP Lane Bridge Rail 2017-09-13
Parapet segment.
P 9 Drawn by GES Scale 1:5 Sheet 7 of 9 Anchor Rods

T:\1-ProjectFiles\607841 - WP Lane Jr. Bridge - Williams\Drafting, 60784 1\607841 Drawing



Rail Details

Sections |-l and H-H are i 8 N |
typical for each Rail type a—— , - - - S
- J
[ 1 ‘ ]
> J y : Y Y
Elevation View | 1
N Center Section
0.1875" Wall 8" x 4-7/8" Tubing
g 3 T 1/4° API-5LX520
R9-1 1/4'
Elevation View A
End Section A RA.1/
16'
1/1¢ X 1-3/4 10 v
Typ x4 N Y
B \ /8] et > >
- O .
. Section J-J
Scale 1:8
Plate, 8" x 1" x 12"
ASTM A709 Grade 50 Q O i 112 8a. Galvanize Rail and Splice Sections after all
[ fabrication is complete.

Section |-l -
Scale 1:5

/‘—‘ {exas AftIV{ .
rans, ation
A [ siitiie

Roadside Safety and
Physical Security Division -
Proving Ground

Project #607841 WP Lane Bridge Rail
Drawn by GES Scale 1:50

2017-09-13

Sheet 8 of 9 Rail Details

T:\1-ProjectFiles\607841 - WP Lane Jr. Bridge - Williams\Drafting, 60784 1\607841 Drawing



K -
ettt ettt e ettt
|
5 . K -
Rail Splice
API-5LX52
- 3 > 16
|
A A
-1/4
v
Section K-K D 3/8" driving fit Pin = Jexas A&M Roadside Safety and
protruding 1/4" /‘ Transportation Physical Security Division -
A |stitute Proving Ground
Project #607841 WP Lane Bridge Rail 2017-09-13

Drawn by GES Scale 1:3 Sheet 9 of 9 / Rail Splice

T:\1-ProjectFiles\607841 - WP Lane Jr. Bridge - Williams\Drafting, 607841\607841 Drawing



